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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Ai NN n A#—\\ T et
e U W
AR AN | [

i JWW\N\V : Lpt

| ~ A
\ i e
ATy [ — R e e -
A NN ALYV

| Y ;

. MEV/\VAVJ\,AJ |
S A7/ —
AW
W i

N Ny

AN A\,

A i M

—— =

pl

i AN

| AN

W
AV LW WL VA S

A W LM A !
YR LA
.




Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

07:35 288 150.0 B5| TiHAe07:35 KRENFERF (RFA1ERER)
08:20 288 150.0 R5| TiHAe08:20 KRHEFEF (RAEEHS)
09:05 288 150.0 Ag| 7nHR@09:05 KENFEF (KAEEES)
10:05 288 150.0 B[ TMHA@10:05 KRENFEF (RAEEES)
10:55 288 150.0 B5| THHA@10:55 KRENFEFF (RFA1ERER)
11:40 288 150.0 Be| ThiHfe11:40 REEF (KAEZRE)
12:25 288 150.0 Ag| ThHRe12:25 KENFEF (RAEEES)
13:10 288 150. 0 R5| TiHAe13:10 KRHERF (RAEHS)
13:55 288 150.0 RE| FiHRe13:55 REIEF (REERSE)
14:45 288 150.0 Bg| ThHRe14:45 KEEF (CRAEES)
15:40 288 150.0 B5| TiHAe15:40 KENFEF (RAEREE)
23t+]3168.0 (11)%) 1650. 0 32 FEKEC: 2080.0, PH: 5.6

[E&REC 5543.0 K&, iU F{KECAE&PikE R
HEEIKECE (2370.0 vs 5543.0) 15



FRV (ml plant-1)
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P3-15_0, Day=56 (2025-05-26)
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:05 294 150.0 BE| {Ri&e07:05 Bzl (REAEHE)
07:45 294 150.0 BE| 1Ri%e07:45 B3 (KRGS
08:25 294 150.0 S| {Ri&e08:25 B (REAEEE)
09:15 294 150.0 RS {Ri&e09:15 Bal (REAEHE)
10:05 294 150.0 BE| 1Ri%e10:05 Bz (RF{EREE)
11:00 294 150.0 el Rige11:00 Bal (REAEESE)
11:50 294 150.0 el Rige11:50 Bz (REAERSE)
12:35 294 150.0 BE| 1Ri%e12:35 Bz (KRGS
13:15 294 150.0 el Rige13:15 Bal (REAEESE)
13:55 294 150. 0 5| {BRige13:55 B3 (RPBERKS)
14:30 294 150.0 RS {Ri&e14:30 Bz (REERS)
15:10 294 150.0 S| 1BRige15:10 B3h (REEESR)
15:50 294 150.0 | Ri%@15:50 Bz (REERESE)
16:35 294 150.0 BS| 1Ri%e16:35 B (GREMEESE)
23t 4116.0 (14%) 2100.0 329333 KEC: 2080.0, PH: 5.8

FEREHEME STEAEARST (191.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (243:9.0), set to 243 ml.
BE[ERECE (2323.0 vs 4957.0) 35
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P3-15_0, Day=55 (2025-05-25)
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41.

m=610, FV0=0

42

41 -

40 -

39 -

—— MW

610

T T
615 620

m=780,m FV0=0

—— MW

780

T T
785 790

m=950,m FV0=0

—o— MW

950

955 960

m=635, FV0=0

42.0 A

41.5 4

41.0 -

40. 5 A

40. 0 -

39.5 A

39.0 A

—0—

M_W

655

T T
660 665

m=815,m FV0=0

42.5 A

42.0 -

41.5 A

41.0 A

40.5 -

40. 0 -

—0—

MW

815

T T
820 825

m=1010m FVO=0

43.5 -

43.0 A

42.5 -

42.0 -

41.5 A

41.0 A

—0—

M_W

1010

1015

1020
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P3-15

BfiE) | BRI (7)) | EME (EH/HK) | XS AR

07:15 294 150.0 B 1Rige07:15 Bzh (REEESE)
07:55 294 150.0 A5 {Ri&@07:55 B (REERESR)
08:35 294 150.0 B {Ri%@08:35 Bz (KREEEE)
09:15 294 150.0 BS| 1Ri%e09:15 Bz (GREMEEEE)
10:00 294 150.0 RS {Ri%@10:00 Bzl (REERR)
10:50 294 150.0 BS| 1Ri%e10:50 Bz (kREERZE)
11:40 294 150.0 B 1Rige11:40 Bzh (REEESE)
12:20 294 150.0 B Rige12:20 Bz (REAERSE)
13:00 294 150.0 B 1Rige13:00 B3h (REEESE)
13:40 294 150.0 B 1Rige13:40 Bzh (REAEESER)
14:20 294 150.0 B 1Rige14:20 B3h (REEESE)
15:10 294 150.0 B 1Rige15:10 B3h (REEESR)
16:10 294 150. 0 S| Ri%e16:10 Bz (REEESE)
249t 3822.0 (13%) 1950. 0 3ZHREC: 2080.0, PH: 5.8

FEREHEME STEAEARST (191.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (341:32.0), set to 341 ml.
BE[ERECE (2223.0 vs 4393.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150 A

100 A

2

1

1

1.

0.

4

2

400

2

400

200 -

1.

0.8

0.6

0.4+

0.2~

0.0

1000 ~

500 -

P3-15_0, Day=54 (2025-05-24)

50

00 A

50 A

00 A

50 A

VI, V& 4RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1700
381

174 Warning: lcol ['FVI',| "FVO'] missing

—_
[{=)
o
o

oo

o

o
T

N
o
o
o

0

Warning: lcol ["WC1',  "WC2'] missing

- 1000

40

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

0

00 A

00 A

]
Bylnit @56 01:55: ET=1643 Fg=2100.0 Ro=395.0

o @ —
P Y PN\
2 3 4 5 6

| L B

7 8 9
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00 A

p——@ 4 4 —@
0

ByEt @54 19:09: ET=1792 Fg=1800.0 Ro=nan

o .
1 2 3 4 5 6 7 8 9
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_______I___

-/

1

cumET (ml/plant)
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- 1000
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22 1 23 T 3000
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=
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3

= E3
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®
M

=
]

E3
B

E3 ES
B 5]

]
ByWon:@D56 01:95: ET=1530 Fg=1950.0 Ro=353.0

1

1

I

1

1
—o—o—eo
IS

o - 2000

- 1000

21

22 23

——

0 i N
0
i

E3
B

ES
5]

=3

B
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B

B
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=
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B 5]
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| 4
| _obs
PPFD_obs

80 -

60

40 -

20 A

RH
RH_obs
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3 1

e v P

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)



34

33 A

32 A

31 -

30 A

29 -

28 -

-—&— M_E

T T
600 800

m=605,m FV0=0

33 A

32

31 -

30 A

T T
610 615

m=775,m FV0=0

33 -

32

31 4

775

780 785

m=1005m FV0=0

33 A

32 -

31 -

1005

1010 1015

m=460, FV0=0

32 A

31 A

30 A

29 A

28 A

T T
465 470

m=650,m FV0=0

33 A

32 -

31

30 A

T T
655 660

m=820,m FV0=0

33 -

32 A

31 A

820

825 830

600 800

m=490, FV0=0
33 -
32 -
31 -
490 495 500
m=695,m FV0=0
33 -
32 -
31 -
30 -
695 700 705
m=865,m FV0=0
34 -
33 -
32 -
31 -
865 870 875
m=460,m FV0=0
38.0 1 —@—
37.5
37.0
36.5
36.0
460 465 470

m=550, FV0=0

34

33 A

32 A

31

30 A

565 5é0
m=735,n FV0=0

33 A

32 A

31 A

7&0 7&5
m=920,n FV0=0

34 A

33 A

32 -

31 1

920

Qé5 9é0
m=490,n FV0=0

40 -

39 A

38 A

490

495 500




m=530, FV0=0

41 -

40 -

39 -

38 -

—— MW

550

5%5 560
m=735,n FV0=0

40 -

39 A

38

37 A

—— MW

735

7&0 7&5
m=920,n FV0=0

42 —@

41 -

40 -

39 -

M_W

920

925 930

m=605, FV0=0
—— MW
40 -
39 -
38 -
37_ T T T
605 610 615
m=775,m FV0=0
—— MW
40 -
39
38 -
37
T T T
775 780 785
m=1005n FVO=0
—— MW
42
41
40 -
39_ T T T
1005 1010 1015

m=650, FV0=0
—— MW
40 -
39
38
T T T
650 655 660
m=820,m FV0=0
4119 —— MW
40 -
39
38
T T T
820 825 830

m=695, FV0=0
40 —— MW
39
38
37 4
T T T
695 700 705
m=865,m FV0=0
—— MW
41 -
40 -
39
38
T T T
865 870 875




hour

_ = =
N = O

13:

© © O N o o O o

100

80

- 60

- 40

§_

“

%

e
6\
%
7
e
-
%,

o

\ R
N N
K
Q\z\ %7\

2
>
L

&

£

%,
&

At ’@(26_.?
%

%

%



P3-15

BfiE) | FEBIETK (D) | E#=E (EH/) | XK EFF

06:55 300 150.0 FH| 1Bi%@06:55 Bzh (kAMEEEE)
07:35 300 150.0 (2 =| 1Ri%e07:35 Bz (kEBHERSE)
08:15 300 150.0 (Z=| {Ri%@08:15 Bz (FRHEEESE)
09:00 300 150.0 (& =| 1Ri%@09:00 Bz (kBHERSE)
09:45 300 150.0 (B =| 1Ri%@09:45 Bz (kBERSE)
10:45 300 150.0 (2 =| 1BRi%@10:45 Bz (kAFERE)
11:45 300 150.0 (2 =| BRige11:45 Bz (kBFERSE)
12:30 300 150.0 (B =| 1Ri%e12:30 Bz (GkBERSE)
13:15 300 150.0 FH| 1Ri%@13:15 Bzh (REBERRSE)
14:05 300 150.0 FA| {Ri&@14:05 Bz (GRAEEE)
14:45 300 150.0 FE| 1Ri%@14:45 Bz (kBERSE)
15:35 300 150.0 FA| {Ri&@15:35 Bzl (GkAEEE)
16:30 300 150.0 FE| 1BRi%@16:30 Bz (kAERSE)
24t 3900.0 (13%) 1950. 0 3ZHREC: 2080.0, PH: 5.8

FEREHEME STEAMEARS (195.0 : 153.0), AIEEAT—@%E XAHE5
ZRIAKFREBRE153. 0 ml.

large discrepency for begining water status (314:93.0), set to 314 ml.
BEEIRECE (2080. 0 vs 4413.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=53 (2025-05-23)

150 A

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2145
1700 fess. | 2%
100 +
1146
900 - 1000
50 797
60 Warning: col ['FVI’, 'FVO'] missing 174
0 + - 085.0
( — ME #
200 maxM | 32.5
"""""""""" - 30.0
100 +
-27.5
F25.0
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
400 - Bylnit:@D56 01:55: ET=1840 Fg=2550.0 Ro=661.0 43000
300 A —o—o
&—&—9 | 00
200 ~
100 - L 1000
p—S
0 pb—oue P 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
401 B | B | B | B|mB|mB| B | B | K| B i 5 | B | B | B 5 | B5 5 5 5 5 5 i 5 3000
1
300 4 ByEt @D53 19:09: ET=1963 Fg=1683.0 Ro=nan :
1 - 2000
200 - | $&—8 $ $
100 -~ S i - 1000
@ 1
0 p——ap jt : ——:————:i;—~i I. \\\\\1“‘* 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
4001 BB [ BB | FHR | BH | BB | PR | BB |2 |2=|Z2a|Za|25=(Z=| B | A | BB | B | A | B |2=|2=|(Za]| BB 5 3000
1
300 - ByWon:@D56 01:55: ET=1516 Fg=1950.0 Ro=357.0
- 2000
200 - —$—8—8—8¢
100 - L 1000
1.0 1 oS- 0
) 19 20 21 22 23
0.8 - EXNEZAEZA NG 5
0.6 -
0.4 1
0.2 A

|
| _obs
PPFD_obs

2.5

VA o

FRV (ml d-1)

Ll
|

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



34 -

32 A

30

28 -

26 -

T T
600 800

m=595,m FV0=0

33 A

32 -

31 -

30 A

T T
600 605

m=815,m FV0=0

33

32

31 4

30 -

815

820 825

424 _o—

40 -

38

36

600 800

m=450, FV0=0

31 A

30 A

29 -

28 A

27 A

26 -

—o— M_E

465 4é0
m=655,n FV0=0

33 -

32 -

31

30 A

—o— ME

6é0 6é5
m=875,n FV0=0

33 A

32 -

31

30 A

—o— M_E

875

8é0 8é5
m=450,n FV0=0

38 A

37 A

36

35 A

——

450

455 460

m=485, FV0=0
33 A
32
31 4
30
29 A
T T T
485 490 495
m=710,m FV0=0
33 A
32
31 4
30 A
T T T
710 715 720
m=930,m FV0=0
33 A
32 A
31 4
30
930.0 932.5 935.0 937.5
m=485,m FV0=0
40 A
39 A
38
37
485 490 495

41.

40.

40.

39.

39.

38.

38.

m=545, FV0=0

33 A

32 A

31

30 -

550 5%5
m=770,n FV0=0

33 A

32 -

31 A

30 A

29 -

7;5 7é0
m=990,n FV0=0

33 -

32 A

31

990

Qé5 10b0
m=545,n FV0=0

545

550 555




m=595, FV0=0

41 _ + M_W
40 -
39 -
38 -
T T T
595 600 605
m=815,m FV0=0
—o— MW
41 A
40 A
39
T T
815 820 825

40.

39.

39.

38.

38.

41.

40.

40.

39.

39.

38.

38.

m=695, FV0=0

—o—

MW

T
655

6é0
m=875,n FV0=0

T
665

—0—

M_W

T
875

T
880

885

m=710, FV0=0
—o— MW
40 -
39
38 -
T T T
710 715 720
m=930,m FV0=0
—o— MW
41
40 -
39 -
T T T T T
930.0 932.5 935.0 937.5 940.0

m

42.

41.

41.

40.

40.

39.

39.

m=770, FV0=0

40 -

39 A

38 A

37 A

—0—

MW

770

7;5
m=990,n FV0=0

T
780

——

M_W

T
990

T
995

T
1000
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P3-15

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

06:25 294 150.0 (& =| 1Ri%e06:25 B (kHBHERSE)
07:25 294 150.0 |Z=| 1Ri&e07:25 Bzl (GREB{EEE)
08:25 294 150.0 (Z=| 1Ri%@08:25 Bzh (KAL)
10:10 294 150.0 FE| 1BRi%@10:10 Bzh (kAFERSE)
11:50 294 150.0 FH| 1BRi%e@11:50 Bzh (kBERSE)
13:15 294 150.0 FA| 1Ri&@13:15 Bz (kAEREE)
14:50 294 150.0 FA| {Ri&@14:50 Bz (GRAEREE)
29t1]2058.0 (%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE150. 0 ml.

large discrepency for begining water status (280:30.0), set to 280 ml.
#[E5KECE (2040. 0 vs 4493.0) 5

150.0), AIEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=52 (2025-05-22)

150 Fomm—e e ———
2§90 v@2%2RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
- 2000
100 + 513
1146
900 0 L
50 - 817} 1000
150 Warning: lcol ['FVI',| "FVO'] missing 60
0 + -0
( —— ME $34
200 + maxM
150—. ———————————————————————————————————— i 32
I-ul
100 - 30 =
50 - 28
1.0 26
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
Q08— I 4
Bylnit :@D56 01:55: ET=1220 Fg=1650.0 Ro=386.0 2000
300 A
- 1500
200 ~
- 1000
100 - 500
408: 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
=z B | B [ B | B [ | W [ B | A [ B [ BB [ B | BA [ B8 [ BA [ B | BA | B8 [ BA | BF [ BA | BB [ BA | ogoo
] 1
800 7B Et @D52 17:24: ET=1028 Fg=900.0 Ro=nan ! 500
1
200 ~ I & ©
® ® - 1000
100 - 500
408- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
3z %252z |25 2| B (2=|Z=(Z=| A [ B8 | BA [ B8 | BA [ B8 | BA [ B8 | BA | B8 [ BA | B8 [ BA | B [ BA | 2000
] 1
%997 BylWoFy 1aD56 01:55: ET=817 Fg=1050.0 Ro=197.0 | 1500
200 - :
1 - 1000
1
100 ~ 1
- 500
—o—P
1.0 d" ] 0
0.6 -
0.4 1
0.2 A
0.0
—_— 4
[ ] | _obs
400 —— PPFD_obs
200 A

=

o VPD

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



37.

37.

36.

36.

42.

42.

41.

41,

40.

m=435, FV0=0

32
34 —e— ME
31 A
32 ~
30 A
30 A 29
28
28
—&— ME
T T T T T T T
500 600 700 800 435 440 445
m=605,m FV0=0 m=655,m FV0=0
34 —-&— ME 34.0 A —&— M_E
33.5 A
33 A
33.0 +
32.5 A
32 ~
32.0 ~
a1 - 31.5 -
T T T 31.0 - T T T
605 610 615 655 660 665
m=435,m FV0=0 m=460,m FV0=0
5 —0— MW 41 - —0— MW
0 40 A
5 39 1
0 _ 38 T
435 440 445 460 465 470
m=655,m FV0=0 m=785,m FV0=0
5 42.0 4
-— MW - MW
41.5 A
0 -
41.0 +
5 1 40. 5 A
40. 0 A
0 -
39.5 +
5 39.0 1

655 660 665

785 790 795

m=460, FV0=0

34 A

—0—

33 -

32 -

31

M_E

465 4%0
m=785,n FV0=0

460

—0—
33

32 -

31 A

30 -

M_E

7SI)O 7é5
m=530,n FV0=0

785

42.0 - —.—
41.5 -
41.0 -
40.5 -

40.0

39.5 A

M_W

530 535 540

m=530, FV0=0

34

33 A

32 -

31

—o— ME

530

535

540

42 -

40 ~

38 -

36

-o— MW

T
500

6(I)0
m=605,n FV0=0

T
700

T
800

42.0 A

41.5 A

41.0 A

40. 5 -

40. 0 -

—o— MW

605

610

615




